SHIGEE MEABI6EHRNS

LERKELEESEXA=ZIREHBHN




# H

BSiE 37

76 5 /4t 3

5 il

ALK B AT R R R 2

H

X B £

fein

AL

R S

ELBZ Uil

il

BA 0 HAl 2 5

ELBZ AUl (F F)

i

(YNEE R P

[EEESES

B




a2l

o>
g=i11ly
-+

7655 3 #A

7]

# H

I 7# 5

i
T AR TFARR CRAT 15)

ALK B AT R R R 2

H

¥ % Z it B W

fein

AL

ELEZ UM A

il

BA 0 HAl 2 5

Z Ot

i

S5 I

THE DL




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 1% UE ]

LA R EE
% i 5 it Hir i & i B %% e
AT A E A X AT §
N
1 20
At ik
A 2%
1 =«




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 2 &5 BjmE ]
TR HE AT 1 X By
4 mo- H % # = HANL H il 4 % B BT 2 B P “e
ER
5 A 3% SR IE (0. 503)
i 1 =




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 3% UE ]

BERR & R 1 A %Y
Za woo- #l & ™ s =<K {va H il 4 #H B BT 2 B pAE i
R ERA
A 45
1 =
RIEFHEE
A 5%
1 =




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605
[ % 4 % BimE ]

% i B T % R HAL H il & & BA 0 HAl 2 5 H e
ety - A2 (KRG
%z 3%




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 1 5 Az ]

A BRI 1 )
% 77/ S <) ¥ # iis HANL Hi il 4 % HA A0 LA 2 B U
A R R R AR B
FEOVER100mmEL T B S HER 422m
x 1%

t




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 2 5 ARz ]

ik oAy
S R W OB | Hff & " R i "
AT
BT 3 20
% 28
1 =
ot




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 3 5 Az ]

R T L
, F AT (0. 503) )
% g piz) iis HAT Hi il 4 % HA A0 LA 2 B U
B A AT
A 6% ¥ A IE (0. 503)
1 =
AT
A T FHEAHIE (0. 503)
1 =




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 4 5 ARz ]

MR B R 1 )
% 77/ S <) ¥ ¥ OB HAT Hi il 4 % HA A0 LA 2 B U
b R R
B L— & —1E B
Bl 5

t




HIERIRT 76 5-FR A% 3 BEHREL K & A i R SRR B 2 1
[ % 5 5 Az ]

5
AIETE R

V=)

% S ) T

fein

AL

il

&

BA 0 HAl 2 5

i




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 6 5 AR ]

Bl T A %y
, I IE (0. 503) )
4 i bo) % = HANL Hi il 4 %A HA A0 LA 2 P “e
i K B oy B OVE B S Ek
%= 11 5 T IE (0. 503)
1 =
F—X% N7
x 12 & FHEAHIE (0. 503)
1 =
LR SN
= 13 & FHEAHIE (0. 503)
1 =
TH KRR B AR B R 5
x 14 & FHEAHIE (0. 503)
1 =
R DB
% 15 & FHEAHIE (0. 503)
1 =

10




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 7 5 AUz ]

MR

, I IE (0. 503)

)

V=)

fein

AL

B

il

&

&

BA 0 HAl 2 5

i

K

55

MHIE (0. 503)

11




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 1 5 Hifik ]
4 B E B BRI L —F —1E B

H

ERY

Za woo- #l & s ==X vA H it 4 % B BT 2 B pAE i
FEoE X Exs A E
N ;
't A
FEeRs A K]
s
1 A
FEAR AR R 2
B2 5
1 =
THAEL B
1 =
gt =
3 %
E
1 =

HALY 720

12




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 2 &5 Hifik ]

FARAR L2 A %y
4 i bo) = HANL H il 4 %A B BT 2 B P “e

Hipy—4" -
't &

5 vl Anh—p—
1 =

EiE AT
1 =

HALY 720

13




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 1% ZFEHmE ]

TR IEZER S MO 100mmPA T IR IER422m 1 A %y
Za woo- #l & ™ s ==X vA H it 4 #H B BT 2 B pAE i
Bl A
% 45
1 =
X E Rk
% 55
1 =
FERHA
% 65
1 =
BT
%= 15
1 =

HALY 720

14



HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 2 7% ZFEHRE ]

ReaHtisEs T A2 T L
%o B - B TN T A & ® O 7 5 bt i
AT A
% 8%
1 i
T A
% 9%
2 i
RACHT At
% 10 %
1 i

HALY 720

15



HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 3 7% ZFEHRE ]
fik# - 2l E (R

V=)

% i

fein

AL

il

&

BA 0 HAl 2 5

i

BHEHL (T A b /N ) EERE

HALY 720

16




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 4 % ZFEHRE ]

L A V)
% i B 1% L HLAL Hi it & # A HAlE 25 5 # e
TATALAD
aES
0:832 A
Hehli ()
aES
1:872 A
bl (B)
aES
3.536 A
bl (C)
aES
3.432 A
aES
3.328° A

HALY 720

17




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 5 7% ZFEHRE ]

BiEhs EVEN
4, moo- M ¥ B B Bl & # B A 2 e e
EREEIA]
N2
0.:728 PN
el (A)
N
1:56 PN
el (B)
N
3:432 PN
HHl ()
N
3:432 PN
HAFE
E2
2:808 PN

HALY 720

18




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 6 75 ZREHRE ]

MR Sk
4 B R s BOM{ M & W AT % i
EREEEA
ZF
0.:728 A
BB ()
2
1:976 A
5T (B)
2
3i744 A
5T (©)
2
3:744 A
BT EL
2F
3i536 N

HALY 720

19




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 7% ZFEHRE ]

A 1 A By
%4 77/ R <) ¥ » & HAAL B il & %A B 4 BTG 2 5 % %t
EXaRsail
S
0.52 A
Hefifi (A
S
1144 A
Hehifi (B)
S
156 A
Hefifi (C)
S
1:456 A

HALY 720

20



HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 8 5 ZitHfi# ]
AT A

% S ) T % R HAL H il & & BA 0 HAl 2 5 H
ERES3]
A S
1 A
bl (A)
S
1 A

HALY 720

21




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 9 7% ZREHRE ]

T A E =)
4 R psiA & AL B il 4 b PH 0 B 2 = e b=
Rl (A)
't A
el (B)
AES
1 N

HALY 720

22




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 10 75 ZFEHHZE ]

BT AE E =)
4 R psiA & AL B il 4 b PH 0 B 2 = e b=
BRI
't A
Rl (A)
AES
1 N

HALY 720

23




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 11 % ZFEHffHZE ]
Hi UK B LSy K OV R SRR AR

V=)

, I IE (0. 503) )
% g piz) ¥ iis HANT B it 4 % B 4 BTG 2 5 B U
EXaRsail
N2
S5 AR IE (0. 503)
0:8 A
Hrm o (A)
N2
FHAHIE (0. 503)
19 A
Hrf (B)
N2
FH AN IE (0. 503)
2:4 A
s (O]
N2
FHFAHIE (0. 503)
19 A
N2
FH A IE (0. 503)
1i4 A

HALY 720

24




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605
[ 2

%12 B ZRiLHAEE ]
T —H4 AN %Y
, I IE (0. 503) )
% g piz) ¥ iis HANT B it 4 % B 4 BTG 2 5 B U
EXaRsail
N2
S5 AR IE (0. 503)
0:7 A
Hrm o (A)
N2
FHAHIE (0. 503)
13 A
Hrf (B)
N2
FH AN IE (0. 503)
13 A
s (O]
N2
FHFAHIE (0. 503)
13 A
N2
FH A IE (0. 503)
12 A

HALY 720

25




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 13 %5 ZFEH(fHZE ]

B[] e A 3 R
, I IE (0. 503) )
%4 77/ R <) ¥ Eiy HANT B it 4 % B 4 BTG 2 5 % %t
EXaRsail
N2
FHAHIE (0. 503)
0:7 A
Hefifi (A
N2
FHAHIE (0. 503)
0:7 A
Hehifi (B)
N2
FH AN IE (0. 503)
0:7 A
Hefifi (C)
N2
FHFAHIE (0. 503)
12 A
N2
FH A IE (0. 503)
0:6 A

HALY 720

26




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 14 5 ZFEHHZE ]

TH KA BRAR FRF A )
, I IE (0. 503) )
% 77/ S <) ¥ iis HANT B it 4 % B 4 BTG 2 5 B U
EXaRsail
N2
S5 AR IE (0. 503)
0:7 A
Hrm o (A)
N2
FHAHIE (0. 503)
0:6 A
Hrf (B)
N2
FH AN IE (0. 503)
0:7 A
s (O]
N2
FHFAHIE (0. 503)
0:6 A
N2
FH A IE (0. 503)
0:6 A

HALY 720

27




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 15 7 ZFEH(ZE ]

R O %Y
, I IE (0. 503) )
% g piz) ¥ iis HANT B it 4 % B 4 BTG 2 5 B U
EXaRsail
N2
S5 AR IE (0. 503)
0:7 A
Hrm o (A)
N2
FHAHIE (0. 503)
0:7 A
Hrf (B)
N2
FH AN IE (0. 503)
1.8 A
s (O]
N2
FHFAHIE (0. 503)
0:7 A
N2
FH A IE (0. 503)
0:7 A

HALY 720

28




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ % 16 7o ZFEH(ZE ]

HE A 1 X By
, I IE (0. 503) )
% 77/ S <) ¥ iis HANT B it 4 % B 4 BTG 2 5 B U
HE, HAE
N2
B AHIE (0. 503)
1i4 A
EATH AR
N2
FHAHIE (0. 503)
2:5 A

HALY 720

29




HERIRF 76 5 #RA: 3 ALK B AT s B R Al o 3605

[ 5 17 5 ZFEHfHZE ]

WG HL (T A NSV R

H

ERY

t

HALY 720

Zd s H & it XA il & # BT A 25 5 E-s #
TV, X 2T—
AL FEL, AL 2 NG
5.: 4 1
FAMN [ SRS ]
FHIEB PEKEL 5L
2 fiF ]
FAMN [ SRS ]
FHIEB PEKEL 5L
1 H

30




R B &£ #F ®H B X 3 B
H | s at S 1
EE PRl TESRIRT6 S8R5 3 BEMRBC AR AN B R R MR R S ZeRT
¥ % % P ST CRIRETH
T Ly SE £ A H ~ & Ff 6 410H31H
- s m om L] e L] Bragasmmas AR AN AR F
IENEEESG 0,
BEI (UhE£R) T¥ ¢ 40 mm e e e oe e 180 m
TV ¢ 50 mm o+ o+ oo e oe e 147 m
B LERCEER T# ¢ 75 mm e o oe e oe e e 95 m
I{f 1) mm * ¢ °* °* ¢ o m
T 6 e e e e e e m
G [ HEFIAEE 20 |
BH I 1k LS o A I A ( ) £l
BRHI THEME — &
o m (O ¢ 100mmPA ) RS (2. 0mA )
[ 4=
I I = 5 ( 300m~500mA: i ) ] Mm%
& Bt & oM OE] MA ( 11-13 ]
T # £ # # E &) ( G TR ) ] f
i & B & M E A ( FEOVE ¢ 75 ) ] 4=
+t T F M E =l ] fm
z o b o E[ O A ( ) e
#iE THEMEE— &
& ot & M E O#A ( [ %
T # £ 4 # g OFH ( G TR ) ] f
Moo % o# E[ O A ( SEyi#g ) ] 4=
o & oM E O A ( ) ]




